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SECTION A (32 marks)
Answer ALL the questions in this section.

1. State three reasons why money has time value, (3 marks)

ra

The current market price of an equity share of Malaba Limited is Ksh 40, The current dividend
per share is Ksh 2. The dividends are expected to grow at the rate of 5%.
Caleulate the cost of the equity capital.

(4 marks)
3. Outline two objectives of Business Finance to an organization, (4 marks)
4. State three functions of insurance companies in Kenya. (3 marks)
o

Highlight two limitations of using working capital in estimating the liguidity position of a
business. (2 marks)

6. March Limited intends to invest Ksh 5,000,000 in either Project X or Project Y.

Project X has net cash inflows of Ksh 2,000,000, Ksh 3,000,000 and Ksh 3,500,000 in the first,
second and third years, respectively.

Project Y has a positive net present value of Ksh 500 000 over the three years.

() Calculate the Net Present Value (NPV) of project X, if the cost of capital is 12%
per annum,

(n) Advise the management on the project to invest in.
(4 marks)

7. On 1 January, 2018, Nabok Limited obtained a bank loan of Ksh 2,000,000 which was invested
in the business. The interest rate was 14% per annum. The net profit before tax and interest
for the year 2018 was Ksh 400,000.

Calculate the;
(1) return on capital employed;
(i1) interest coverage ratio.
(4 marks)
8.  Highlight three advantages of leasing as a source of finance. (3 marks)

9.  State three tools that may be used by the Central Bank of Kenya to control credit in the

economy. (3 marks)

10. State two disadvantages of using Pay-Back Period as a method of evaluating long term

projects. (2 marks)
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SECTION B (68 marks)

Answer ALL the questions in this section.

. (@ Explain four factors that may be considered by a firm when developing its credit policy-
(8 marks)
(b Marema Limited intends to raise funds in the forthcoming year as follows:
Ksh
500,000 fully paid up ordinary shares 5,000,000
Retained earnings 2,000,0000
100,000, 8% preference shares 2,000,000
Additional information:
*  The market value of ordinary shares is Ksh 26 per share;
* The expected dividend on ordinary shares is Ksh 2 per share;
* The growth rate in ordinary dividend is 6%.
Calculate the Weighted Average Cost of Capital (WACC).
(9 marks)
12. (a) Explain four measures which may be taken by a government to protect financial
institutions from collapsing. (8 marks)
(b) Mambo Limited intends to borrow Ksh 4,000,000 to finance either project A or
project B. The following are the expected net cash inflows for four years.
Project A Project B
Year Ksh Ksh
1 1,800,000 1,600,000
2 1,500,000 1,200,000
3 1,300,000 1,400,000
4 1,700,000 1,200,000
The cost of capital is 12% per annum.
(i) For each project, determine the:
I present value;
(Il)  profitability index.
(ii)  Advise the management on the project to invest in.
(9 marks)
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Jeko Enterprises is a fast growing business with a high demand for its products. The

l~‘\ “) \ A ‘ ~ ' y 1T N ‘
: firm intends to issue shares for public subscription. Explain four require n'lcnlh that
should be fulfilled by the firm in order to be quoted at the Nairobi Securities Exchange.
(8 marks)
Q) The following information relates to the Wema Limited for the years ended
31 December,
2017 2018
Ksh Ksh
Sales 240,000,000 280,000,000
Gross profit 180,000,000 200,000,000
Expenses 20,000,000 80,000,000
Current assets 40,000,000 480,000,000
Current liabilities 240,000,000 280,000,000
The average inventory was Ksh 60,000,000 for the year 2017, and Ksh 80,000,000
for the year 2018,
W For each of the years, 2017 and 2018, calculate the following ratios:
) Gross profit margin;
(I)  Net profit margin;
(1) Stock wrnover ratio;
(IV)  Current ratio.
(i)  State two measures which the management may take to increase the
profitability of the firm. (9 marks)
14, (a) Differentiate between each of the following sources of finance:
(i) Bank credit and trade credit;
(i)  Factoring and invoice discounting;
(ii)  Hire-purchase and leasing;
(iv)  Promissory note and bills of exchange.
(8 marks)
(b) Lara plans to buy a machine after 3 years. The machine will cost Ksh 2.,000,000.
She intends to deposit Ksh 300,000 in the bank at the beginning of the first year and
Ksh 400,000 at the beginning of the second year. The bank pays a compound interest at
the rate of 10% per annum. Calculate the amount Lara should deposit at the beginning
of the third year to enable her acquire the machine. (9 marks)
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